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$include <stdio.h>
$include <stdlib.h>
$include <time.h>

int main|()
{

int random genNo=0, count=i,num;
int stime;
long 1timtﬂ

ltime = time (NULL)

atime = (unsigned) ltime/.:
srand (stcime) ;

randmm_genﬂg=:and|-%

while|_)

conant+=..;

leﬂtf["H:HiG:eﬁs 2 number from (0 te 100): "3
scanf ("%4", snum) ;

1£1:and¢m_genﬂﬂf=numlt ny
prince ("You have gueasad a correct number. ™,
break:




while(1l)

{

count+=1;

printf ("\n\nGuess a number from (0 to 100): ");
scanf ("%d", &tnum) ;

if (random_genNo==num) |

printf ("You have guessed a correct number."™):;
break;

)

else if (random genNo<num) (

printf ("Generated number is less than sntered number®):

else 1f (random genNo -num) {

printf ("Generated number is greater than entéered number=)e

if ({coant==

break:;




